



## Reverse Order Law of Drazin Inverse for Bounded Linear Operators\*

Hua Wang<sup>a</sup>, Junjie Huang<sup>b</sup>

<sup>a</sup>College of Sciences, Inner Mongolia University of Technology, Hohhot, PRC

<sup>b</sup>School of Mathematical Sciences, Inner Mongolia University, Hohhot, PRC

**Abstract.** In this paper, the reverse order law of Drazin inverse is investigated under some conditions in a Banach space. Moreover, the Drazin invertibility of sum for two bounded linear operators are also obtained.

### 1. Introduction

It is well known that, for the ordinary inverse, the equality  $(PQ)^{-1} = Q^{-1}P^{-1}$  always holds if  $P$  and  $Q$  are invertible, which is called the reverse order law. However, it is not necessarily true for most generalized inverses such as  $K$ -inverse ( $K \in \{\{1\}, \{1, 2\}, \{1, 3\}, \{1, 2, 3\}, \{1, 3, 4\}\}$ ), Moore-Penrose inverse and Drazin inverse. For example, let  $P = \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix}$  and  $Q = \begin{pmatrix} 2 & 3 \\ 0 & 0 \end{pmatrix}$ , then  $P^D = \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix}$ ,  $Q^D = \begin{pmatrix} \frac{1}{2} & \frac{3}{4} \\ 0 & 0 \end{pmatrix}$  and  $(PQ)^D = \begin{pmatrix} \frac{1}{2} & \frac{3}{4} \\ 0 & 0 \end{pmatrix}$ . Obviously,  $(PQ)^D \neq Q^D P^D$ . Thus, many authors were attracted to investigate the condition under which reverse order laws hold for various generalized inverses and some interesting results were obtained [1–15].

For bounded linear operators, Deng [4, 14] presented necessary and sufficient conditions for the reverse order law of group inverse and Drazin inverse, respectively. Mosić [8, 10] investigated the reverse order law for the generalized Drazin inverse in Banach algebras.

In this paper, we consider the reverse order law of the Drazin inverse for bounded linear operators. Precisely, we give some reverse order laws and commutation relations for Drazin invertible bounded linear operators  $P$  and  $Q$  under the condition (1)  $P^2Q = QP$ , (2)  $PQ^2 = QP$  and (3)  $P^2Q = QP = PQ^2$ , respectively. In particular, we obtain that  $(PQ)^D = Q^D P^D$  and  $(P + Q)^D = P^D + Q^D - \frac{3}{2}P^D P Q^D$  when  $P^2Q = QP = PQ^2$ .

Throughout this paper,  $\mathcal{X}$  and  $\mathcal{Y}$  denote Banach spaces, and the set  $\mathcal{B}(\mathcal{X})$  consists of all bounded linear operators on  $\mathcal{X}$ .

Recall that an operator  $T \in \mathcal{B}(\mathcal{X})$  is said to be Drazin invertible, if there exists an operator  $T^D \in \mathcal{B}(\mathcal{X})$  satisfying

$$TT^D = T^D T, \quad T^D = T(T^D)^2, \quad \text{and} \quad T^{k+1}T^D = T^k \text{ for some integer } k \geq 0.$$

Here  $T^D$  is called the Drazin inverse of  $T$  and the smallest integer  $k$ , denoted by  $\text{ind}(T)$ , is called the index of  $T$ .

In the following, we list some basic facts about the Drazin inverse, which will be used in later proofs.

2010 *Mathematics Subject Classification.* 15A09; 46C05.

*Keywords.* Drazin inverse, reverse order law, bounded linear operator.

Received: 5 February 2018; Accepted: 21 May 2018

Communicated by Dijana Mosić

Research supported by the NNSF of China (11461049 and 11601249), and the NSF of Inner Mongolia (2018MS01002 and 2017MS0118).

*Email addresses:* hrenly@163.com (Hua Wang), huangjunjie@imu.edu.cn (Junjie Huang)

**Lemma 1.1.** Let  $T, S \in \mathcal{B}(X)$ .

(1) If  $T$  is Drazin invertible, then  $T$  has the operator matrix form

$$T = \begin{pmatrix} T_1 & 0 \\ 0 & N_1 \end{pmatrix}$$

with respect to the space decomposition  $\mathcal{H} = \mathcal{N}(T^\pi) \oplus \mathcal{R}(T^\pi)$ , where  $T_1$  is invertible,  $N_1$  is nilpotent and  $T^\pi = I - TT^D$ .

(2) If  $S$  is invertible, then  $T$  is Drazin invertible if and only if  $S^{-1}TS$  is Drazin invertible, and  $(S^{-1}TS)^D = S^{-1}T^DS$ .

## 2. Main results

In this section, we investigate various types of reverse order laws and commutation relations. The following lemma is necessary.

**Lemma 2.1.** Let  $N, Q \in \mathcal{B}(X)$ . If  $N^2Q = QN$  and  $N$  is nilpotent, then  $N^kQ, QN^k, NQ^k (k = 1, 2, \dots)$  and  $NQN$  are all nilpotent, and we further have

(1) if  $Q$  is Drazin invertible, then  $Q^DN = 0$ .

(2) if  $Q$  is invertible, then  $N = 0$ .

*Proof.* We only prove the case  $k = 1$ , and the other cases are similar. By  $N^2Q = QN$ , we have

$$QN^i = QNN^{i-1} = N^2QN^{i-1} = N^2QNN^{i-2} = N^4QN^{i-2} = \dots = N^{2i}Q, i = 1, 2, \dots$$

Then, for  $n = 2, 3, \dots$ ,

$$\begin{aligned} (NQ)^n &= (NQ)^{n-2}NQNQ \\ &= (NQ)^{n-2}N^3Q^2 \\ &= (NQ)^{n-3}NQN^3Q^2 \\ &= (NQ)^{n-3}N^7Q^3 \\ &= \dots \\ &= N^{2^n-1}Q^n, \end{aligned}$$

which implies  $NQ$  is nilpotent, since  $N$  is nilpotent. In view of  $(QN)^n = Q(NQ)^{n-1}N$ ,  $QN$  is also nilpotent.

On the other hand, if  $Q$  is Drazin invertible, then, by  $Q^D = (Q^D)^2Q$ , it follows that

$$Q^DN = (Q^D)^2QN = (Q^D)^2N^2Q = Q^D(Q^DN)NQ,$$

and we further have

$$Q^DN = (Q^D)^n(Q^DN)(NQ)^n, n = 1, 2, \dots$$

Since  $NQ$  is nilpotent,  $Q^DN = 0$ .

If  $Q$  is invertible, then  $N = Q^{-1}N^2Q$ . Thus,  $N = (Q^{-1})^k N^{2^k} Q^k, k = 1, 2, \dots$ , which demonstrates  $N = 0$  since  $N$  is nilpotent.  $\square$

**Theorem 2.2.** Let  $P, Q \in \mathcal{B}(X)$ ,  $P$  be Drazin invertible with  $\text{ind}(P) = n$ , and  $P^2Q = QP$ . Denote by

$$\mathcal{M} = \{P^kQ, QP^k, PQP, P^DQ, QP^D, PP^DQ, QPP^D, PQP^D, P^DQP, PP^DPQ\}, k = 1, 2, 3, \dots$$

(1) If one of the elements in the set  $\mathcal{M}$  is Drazin invertible, then all the elements are Drazin invertible.

(2) If  $PQ$  is Drazin invertible, then the following statements are true.

(i)  $(PQ)^D = PP^D(PQ)^D = (PQ)^DPP^D = (P^DQP)^D = P(QP)^D P^D$   
 $= (P^D)^2(P^DQ)^D P^2 = (P^D)^3(QP^D)^D P^3 = P^D(PP^DQ)^D P;$

(ii)  $(P^kQ)^D = P^D(P^{k-1}Q)^D P = (P^D)^{k-1}(PQ)^D P^{k-1};$

- (iii)  $(P^k Q)^D (P^D)^k Q P^k$  is idempotent;
- (iv)  $(P P^D P Q)^D = (P Q)^D P P^D = P P^D (P Q)^D$ ;
- (v)  $(P Q)^D P^D Q P = P^D Q P (P Q)^D$ ;
- (v)  $(P Q)^D P P^\pi = 0$ .

*Proof.* Since  $P$  is Drazin invertible with  $\text{ind}(P) = n$ , by Lemma 1.1 (i),  $P$  has the following operator matrix form

$$P = \begin{pmatrix} P_1 & 0 \\ 0 & N_1 \end{pmatrix} \tag{1}$$

with respect to the space decomposition  $\mathcal{H} = \mathcal{N}(P^n) \oplus \mathcal{R}(P^n)$ , where  $P_1$  is invertible,  $N_1^n = 0$ , and

$$P^D = \begin{pmatrix} P_1^{-1} & 0 \\ 0 & 0 \end{pmatrix}.$$

Let the operator matrix form of  $Q$  with respect to the above space decomposition be given by

$$Q = \begin{pmatrix} Q_1 & Q_2 \\ Q_3 & Q_4 \end{pmatrix}.$$

From  $P^2 Q = Q P$ , it follows that  $P^{2n} Q = Q P^n$ , then

$$\begin{pmatrix} P_1^{2n} Q_1 & P_1^{2n} Q_2 \\ 0 & 0 \end{pmatrix} = \begin{pmatrix} Q_1 P_1^n & 0 \\ Q_3 P_1^n & 0 \end{pmatrix}.$$

Note that, since  $P_1$  is invertible, we have  $Q_2 = 0$  and  $Q_3 = 0$  from  $P_1^{2n} Q_2 = 0$  and  $Q_3 P_1^n = 0$ . Thus,

$$Q = \begin{pmatrix} Q_1 & 0 \\ 0 & Q_4 \end{pmatrix}. \tag{2}$$

Moreover, by  $P^2 Q = Q P$ , we also have that

$$P_1^2 Q_1 = Q_1 P_1, \quad N_1^2 Q_4 = Q_4 N_1, \tag{3}$$

which shows that

$$P_1 Q_1 = P_1^{-1} Q_1 P_1 \tag{4}$$

and  $N_1 Q_4$  is nilpotent by Lemma 2.1.

(1) Through computations, we get that

$$P^k Q = \begin{pmatrix} P_1^k Q_1 & 0 \\ 0 & N_1^k Q_4 \end{pmatrix}, \quad Q P^k = \begin{pmatrix} Q_1 P_1^k & 0 \\ 0 & Q_4 N_1^k \end{pmatrix}, \quad k = 1, 2, \dots$$

According to Lemma 2.1,  $N_1^k Q_4$  and  $Q_4 N_1^k$  are all nilpotent by (3), and hence  $(N_1^k Q_4)^D = 0$  and  $(Q_4 N_1^k)^D = 0$ . Thus,  $P^k Q$  and  $Q P^k$  are Drazin invertible if and only if  $P_1^k Q_1$  and  $Q_1 P_1^k$  are Drazin invertible, respectively. On the other hand, we obtain, from (4), that

$$P_1^k Q_1 = (P_1^{-1})^k Q_1 P_1^k, \quad Q_1 P_1^k = (P_1^{-1})^k (P_1^k Q_1) P_1^k = (P_1^{-1})^{2k} Q_1 P_1^{2k}, \tag{5}$$

which implies that  $P_1^k Q_1$  and  $Q_1 P_1^k$  are Drazin invertible if and only if  $Q_1$  is Drazin invertible by Lemma 1.1 (2). Therefore,  $P^k Q$  and  $Q P^k$  are Drazin invertible if and only if  $Q_1$  is Drazin invertible. Also,  $P Q P = P^3 Q$  by the assumption  $P^2 Q = Q P$ , and so,  $P Q P$  is Drazin invertible if and only if  $Q_1$  is Drazin invertible.

For  $P^D Q$  and  $Q P^D$ , we observe that

$$P^D Q = \begin{pmatrix} P_1^{-1} Q_1 & 0 \\ 0 & 0 \end{pmatrix}, \quad Q P^D = \begin{pmatrix} Q_1 P_1^{-1} & 0 \\ 0 & 0 \end{pmatrix}.$$

Applying (4), it follows that

$$P_1^{-1}Q_1 = P_1Q_1P_1^{-1}, \quad Q_1P_1^{-1} = P_1^2Q_1(P_1^{-1})^2. \tag{6}$$

Hence,  $P^DQ$  and  $QP^D$  are Drazin invertible if and only if  $Q_1$  is Drazin invertible.

Obviously,  $PP^DQ, QPP^D, PQP^D, P^DQP, PP^DPQ$  are all Drazin invertible if and only if  $Q_1$  is Drazin invertible since  $PP^DQ = QPP^D = \begin{pmatrix} Q_1 & 0 \\ 0 & 0 \end{pmatrix}$ ,  $PQP^D = \begin{pmatrix} P_1Q_1P_1^{-1} & 0 \\ 0 & 0 \end{pmatrix}$ ,  $P^DQP = \begin{pmatrix} P_1^{-1}Q_1P_1 & 0 \\ 0 & 0 \end{pmatrix}$  and  $PP^DPQ = \begin{pmatrix} P_1Q_1 & 0 \\ 0 & 0 \end{pmatrix}$ .

Therefore, the conclusion (1) is proven.

(2) If  $PQ$  is Drazin invertible, then, using (4), (5) and (6), we obtain that

$$\begin{aligned} (PQ)^D &= \begin{pmatrix} (P_1Q_1)^D & 0 \\ 0 & 0 \end{pmatrix} = \begin{pmatrix} P_1^{-1}Q_1^D P_1 & 0 \\ 0 & 0 \end{pmatrix}, \\ (QP)^D &= \begin{pmatrix} (Q_1P_1)^D & 0 \\ 0 & 0 \end{pmatrix} = \begin{pmatrix} (P_1^{-1})^2 Q_1^D P_1^2 & 0 \\ 0 & 0 \end{pmatrix}, \\ (QP^D)^D &= \begin{pmatrix} (Q_1P_1^{-1})^D & 0 \\ 0 & 0 \end{pmatrix} = \begin{pmatrix} P_1^2 Q_1^D (P_1^{-1})^2 & 0 \\ 0 & 0 \end{pmatrix}, \\ (P^DQ)^D &= \begin{pmatrix} (P_1^{-1}Q_1)^D & 0 \\ 0 & 0 \end{pmatrix} = \begin{pmatrix} P_1 Q_1^D P_1^{-1} & 0 \\ 0 & 0 \end{pmatrix}, \\ (P^kQ)^D &= \begin{pmatrix} (P_1^kQ_1)^D & 0 \\ 0 & 0 \end{pmatrix} = \begin{pmatrix} (P_1^{-1})^k Q_1^D P_1^k & 0 \\ 0 & 0 \end{pmatrix}, \\ (QP^k)^D &= \begin{pmatrix} (Q_1P_1^k)^D & 0 \\ 0 & 0 \end{pmatrix} = \begin{pmatrix} (P_1^{-1})^{2k} Q_1^D P_1^{2k} & 0 \\ 0 & 0 \end{pmatrix}. \end{aligned}$$

Thus, we can easily verify items (i)–(v).  $\square$

Similarly, we state the symmetrical formulation of Theorem 2.2.

**Theorem 2.3.** Let  $P, Q \in \mathcal{B}(X)$ ,  $Q$  be Drazin invertible with  $\text{ind}(Q) = t$ , and  $PQ^2 = QP$ . Denote by

$$\mathcal{N} = \{PQ^k, Q^kP, QPQ, PQ^D, Q^DQ, QQ^D, QPQ^D, PQQ^D, QQ^D PQ\}, \quad k = 1, 2, 3, \dots$$

(1) If one of the elements in the set  $\mathcal{N}$  is Drazin invertible, then all the elements are Drazin invertible.

(2) If  $PQ$  is Drazin invertible, then the following statements are true.

- (i)  $(PQ)^D = QQ^D(PQ)^D = (PQ)^D QQ^D = (QPQ^D)^D = Q^D(QP)^D Q$   
 $= (Q^2(PQ^D)^D(Q^D)^2 = Q^3(QP^D)^D(Q^D)^3 = Q(QQ^D P)^D Q^D;$
- (ii)  $(PQ^k)^D = Q(PQ^{k-1})^D Q^D = Q^{k-1}(PQ)^D(Q^D)^{k-1};$
- (iii)  $(PQ^k)^D Q^k P(Q^D)^k$  is idempotent;
- (iv)  $(QQ^D PQ)^D = (PQ)^D QQ^D = QQ^D(PQ)^D;$
- (v)  $(PQ)^D QPQ^D = QPQ^D(PQ)^D;$
- (v)  $(PQ)^D QQ^\pi = 0.$

Next, we will give two sufficient conditions for the reverse order law.

**Theorem 2.4.** Let  $P, Q \in \mathcal{B}(X)$  be Drazin invertible, then

- (1) if  $P^2Q = QP$  and  $PQ^D = Q^D P^2$ , then  $(PQ)^D = Q^D P^D.$
- (2) if  $PQ^2 = QP$  and  $P^D Q = Q^2 P^D$ , then  $(PQ)^D = Q^D P^D.$

*Proof.* We only prove (1), and (2) is similar. If  $P^2Q = QP$ , then, from the proof of Theorem 2.2, the expressions (1) and (2) are valid, and  $Q^D = \begin{pmatrix} Q_1^D & 0 \\ 0 & Q_4^D \end{pmatrix}$ . Together with  $PQ^D = Q^DP^2$ , we have  $P_1Q_1^D = Q_1^DP_1^2$ , which concludes  $P_1^{-1}Q_1^DP_1 = Q_1^DP_1^{-1}$ . Also,

$$(PQ)^D = \begin{pmatrix} P_1^{-1}Q_1^DP_1 & 0 \\ 0 & 0 \end{pmatrix}, \quad Q^DP^D = \begin{pmatrix} Q_1^DP_1^{-1} & 0 \\ 0 & 0 \end{pmatrix}.$$

Evidently,  $(PQ)^D = Q^DP^D$ .  $\square$

**Theorem 2.5.** *Let  $P, Q \in \mathcal{B}(X)$  be Drazin invertible. If  $P^2Q = QP = PQ^2$ , then the following various types of reverse order laws and commutation relations hold.*

- (1)  $(PQQ^D)^D = Q(PQ)^D = (PQ)^DQ = (PP^DQ)^D = (Q^DP)^D$ .
- (2)  $(PQQ^D)^D = Q^D(PQ)^D = (PQ)^DQ^D = (QPQ)^D$ .
- (3)  $(QQP)^D = (QP)^DQ^D = Q^D(QP)^D$ .
- (4)  $PQ^D$  is idempotent, and  $(PQ^D)^D = (PQ(Q^D)^2)^D = Q^2(PQ)^D = (PQ)^DQ^2$ .
- (5)  $(Q^D)^2P$  is idempotent, and  $(Q^DQ^DP)^D = (Q^DP)^DQ = Q(Q^DP)^D$ .

*Proof.* If  $P^2Q = QP = PQ^2$ , then, from (1) and (2), we have  $P_1^2Q_1 = Q_1P_1 = P_1Q_1^2$ , which gives  $P_1Q_1 = Q_1^2$ , and so

$$(PQ)^D = \begin{pmatrix} (Q_1^D)^2 & 0 \\ 0 & 0 \end{pmatrix}. \tag{7}$$

Also,  $N_1^2Q_4 = Q_4N_1 = N_1Q_4^2$  follows. Then,

$$N_1Q_4^D = N_1Q_4^2(Q_4^D)^3 = N_1^2Q_4(Q_4^D)^3 = N_1^2(Q_4^D)^2.$$

Further, we have  $N_1Q_4^D = N_1^n(Q_4^D)^n, n = 1, 2, \dots$ , and so  $N_1Q_4^D = 0$ . Again, by  $P_1Q_1 = Q_1^2, Q_1P_1 = P_1Q_1^2 = Q_1^3$  and  $Q_1^D = Q_1(Q_1^D)^2$ , we get that

$$Q_1^DP_1 = (Q_1^D)^2Q_1P_1 = (Q_1^D)^2Q_1^3 = Q_1^DQ_1^2, \tag{8}$$

$$P_1Q_1^D = P_1Q_1(Q_1^D)^2 = Q_1^2(Q_1^D)^2 = Q_1Q_1^D.$$

Moreover,  $Q_4^DN_1 = 0$  according to (3) and Lemma 2.1. Hence,

$$\begin{aligned} PQQ^D &= \begin{pmatrix} P_1Q_1Q_1^D & 0 \\ 0 & N_1Q_4Q_4^D \end{pmatrix} = \begin{pmatrix} Q_1^2Q_1^D & 0 \\ 0 & 0 \end{pmatrix}, \\ Q^DP &= \begin{pmatrix} Q_1^DP_1 & 0 \\ 0 & Q_4^DN_1 \end{pmatrix} = \begin{pmatrix} Q_1^2Q_1^D & 0 \\ 0 & 0 \end{pmatrix}, \end{aligned} \tag{9}$$

$$QP = \begin{pmatrix} Q_1P_1 & 0 \\ 0 & Q_4N_1 \end{pmatrix} = \begin{pmatrix} Q_1^3 & 0 \\ 0 & Q_4N_1 \end{pmatrix},$$

$$QPQ = \begin{pmatrix} Q_1P_1Q_1 & 0 \\ 0 & Q_4N_1Q_4 \end{pmatrix} = \begin{pmatrix} Q_1^3 & 0 \\ 0 & N_1Q_4^3 \end{pmatrix},$$

$$Q^2P = \begin{pmatrix} Q_1^2P_1 & 0 \\ 0 & Q_4^2N_1 \end{pmatrix} = \begin{pmatrix} Q_1^4 & 0 \\ 0 & Q_4^2N_1 \end{pmatrix},$$

$$PQ^D = \begin{pmatrix} P_1Q_1^D & 0 \\ 0 & N_1Q_4^D \end{pmatrix} = \begin{pmatrix} Q_1Q_1^D & 0 \\ 0 & 0 \end{pmatrix}, \tag{10}$$

$$(Q^D)^2P = \begin{pmatrix} (Q_1^D)^2P_1 & 0 \\ 0 & (Q_4^D)^2N_1 \end{pmatrix} = \begin{pmatrix} Q_1Q_1^D & 0 \\ 0 & 0 \end{pmatrix}.$$

Note that  $(Q_1^2 Q_1^D)^D = Q_1^D$ , and  $Q_4 N_1, N_1 Q_4^3, Q_4^2 N_1$  are all nilpotent. Thus, items (1)–(5) can be proven.  $\square$

Finally, we show that the reverse order law  $(PQ)^D = Q^D P^D$  holds under the condition  $P^2 Q = QP = Q^2 P$ .

**Theorem 2.6.** *Let  $P, Q \in \mathcal{B}(X)$  be Drazin invertible with  $\text{ind}(P) = n$  and  $\text{ind}(Q) = t$ . If  $P^2 Q = QP = PQ^2$ , then the following reverse order law and commutation relations hold.*

- (1)  $(PQ)^D = Q^D P^D = P^D Q^D$ .
- (2)  $PQ^D = Q^D P$ .
- (3)  $P^D Q = Q P^D$ .

*Proof.* By Lemma 1.1,  $Q_1, Q_4$  in (2) have the following operator matrix forms

$$Q_1 = \begin{pmatrix} Q_{11} & 0 \\ 0 & Q_{14} \end{pmatrix}, \quad Q_4 = \begin{pmatrix} Q_{41} & 0 \\ 0 & Q_{44} \end{pmatrix} \tag{11}$$

with respect to the space decompositions  $\mathcal{N}(P^\pi) = \mathcal{N}(Q_1^\pi) \oplus \mathcal{R}(Q_1^\pi)$  and  $\mathcal{R}(P^\pi) = \mathcal{N}(Q_4^\pi) \oplus \mathcal{R}(Q_4^\pi)$ , where  $Q_{11}, Q_{41}$  are invertible, and  $Q_{14}, Q_{44}$  are nilpotent. Let

$$P_1 = \begin{pmatrix} P_{11} & P_{12} \\ P_{13} & P_{14} \end{pmatrix}, \quad N_1 = \begin{pmatrix} N_{11} & N_{12} \\ N_{13} & N_{14} \end{pmatrix}$$

in (1) be operator matrix forms of  $P_1, N_1$  with respect to the above two space decompositions.

From (3), it follows that  $P_1^{2^t} Q_1^t = Q_1^t P_1$  and  $N_1^{2^t} Q_4^t = Q_4^t N_1$ . Let  $P_1^{2^t} = \begin{pmatrix} \tilde{P}_{11} & \tilde{P}_{12} \\ \tilde{P}_{13} & \tilde{P}_{14} \end{pmatrix}$ , then  $\begin{pmatrix} \tilde{P}_{11} Q_{11}^t & 0 \\ \tilde{P}_{13} Q_{11}^t & 0 \end{pmatrix} = \begin{pmatrix} Q_{11}^t P_{11} & Q_{11}^t P_{12} \\ 0 & 0 \end{pmatrix}$ . This deduces that  $P_{12} = 0$  and  $\tilde{P}_{13} = 0$ , i.e.,

$$P_1 = \begin{pmatrix} P_{11} & 0 \\ P_{13} & P_{14} \end{pmatrix} \text{ and } P_1^{2^t} = \begin{pmatrix} \tilde{P}_{11} & \tilde{P}_{12} \\ 0 & \tilde{P}_{14} \end{pmatrix},$$

and it can be seen that  $\tilde{P}_{12} = 0$ . Thus,  $P_1^{2^t} = \begin{pmatrix} P_{11}^{2^t} & \\ & P_{14}^{2^t} \end{pmatrix}$ , which indicates that  $P_{11}, P_{14}$  are invertible since  $P_1$  is invertible. Similarly, from  $N_1^{2^t} Q_4^t = Q_4^t N_1$ , we can conclude that  $N_{12} = 0$ , and  $N_1^{2^t} = \begin{pmatrix} N_{11}^{2^t} & \\ & N_{14}^{2^t} \end{pmatrix}$ . So  $N_{11}, N_{14}$  are nilpotent since  $N_1$  is nilpotent. Also, by  $N_1^2 Q_4 = Q_4 N_1$ , we get  $N_{11}^2 Q_{41} = Q_{41} N_{11}$ . Then  $N_{11} = 0$  follows from Lemma 2.1. Thus,

$$N_1 = \begin{pmatrix} 0 & 0 \\ N_{13} & N_{14} \end{pmatrix}.$$

Through computations, we get that

$$P^2 Q = \begin{pmatrix} P_{11}^2 Q_{11} & 0 & 0 & 0 \\ P_{13} P_{11} Q_{11} + P_{14} P_{13} Q_{11} & P_{14}^2 Q_{14} & 0 & 0 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & N_{14} N_{13} Q_{41} & N_{14}^2 Q_{44} \end{pmatrix},$$

$$QP = \begin{pmatrix} Q_{11} P_{11} & 0 & 0 & 0 \\ Q_{14} P_{13} & Q_{14} P_{14} & 0 & 0 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & Q_{44} N_{13} & Q_{44} N_{14} \end{pmatrix},$$

$$PQ^2 = \begin{pmatrix} P_{11} Q_{11}^2 & 0 & 0 & 0 \\ P_{13} Q_{11}^2 & P_{14} Q_{14}^2 & 0 & 0 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & N_{13} Q_{41}^2 & N_{14} Q_{44}^2 \end{pmatrix}.$$

Hence, according to  $P^2Q = QP = PQ^2$ , the following equalities are obtained,

$$P_{11}^2Q_{11} = Q_{11}P_{11} = P_{11}Q_{11}^2, \tag{12}$$

$$P_{14}^2Q_{14} = Q_{14}P_{14} = P_{14}Q_{14}^2, \tag{13}$$

$$N_{14}^2Q_{44} = Q_{44}N_{14} = N_{14}Q_{44}^2, \tag{14}$$

$$N_{14}N_{13}Q_{41} = Q_{44}N_{13} = N_{13}Q_{41}^2, \tag{15}$$

$$Q_{14}P_{13} = P_{13}Q_{11}^2. \tag{16}$$

From (12), we obtain  $P_{11} = Q_{11}$ . Notice that  $N_{13} = N_{13}Q_{41}^2(Q_{41}^2)^{-1} = Q_{44}N_{13}(Q_{41}^2)^{-1}$  by (15). Then  $N_{13} = Q_{44}^t N_{13}(Q_{41}^{2t})^{-1} = 0$  since  $Q_{44}$  is nilpotent. Also,  $Q_{14} = P_{14}Q_{14}^2P_{14}^{-1}$  from (13), then we get

$$Q_{14} = P_{14}(P_{14}Q_{14}^2P_{14}^{-1})^2P_{14}^{-1} = P_{14}^2Q_{14}^4(P_{14}^2)^{-1},$$

and we further have  $Q_{14} = P_{14}^t Q_{14}^{2t} (P_{14}^t)^{-1}$ , which concludes  $Q_{14} = 0$ . Hence,  $P_{13} = 0$  by (16). Thus, we have that

$$P = \begin{pmatrix} P_{11} & 0 & 0 & 0 \\ 0 & P_{14} & 0 & 0 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & N_{14} \end{pmatrix}, \quad Q = \begin{pmatrix} Q_{11} & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & Q_{41} & 0 \\ 0 & 0 & 0 & Q_{44} \end{pmatrix}. \tag{17}$$

Moreover, (14) shows that  $N_{14}Q_{44}$  is nilpotent. Therefore,

$$(PQ)^D = \begin{pmatrix} Q_{11}^{-1}P_{11}^{-1} & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \end{pmatrix}, \quad P^D = \begin{pmatrix} P_{11}^{-1} & 0 & 0 & 0 \\ 0 & P_{14}^{-1} & 0 & 0 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \end{pmatrix}, \quad Q^D = \begin{pmatrix} Q_{11}^{-1} & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & Q_{41}^{-1} & 0 \\ 0 & 0 & 0 & 0 \end{pmatrix}.$$

Obviously, items (1)–(3) hold.  $\square$

From the proof of Theorem 2.6, we can obtain the Drazin invertibility of  $P + Q$ .

**Theorem 2.7.** *Let  $P, Q \in \mathcal{B}(X)$  be Drazin invertible. If  $P^2Q = QP = PQ^2$ , then  $P + Q$  is Drazin invertible, and  $(P + Q)^D = P^D + Q^D - \frac{3}{2}P^D P Q^D$ .*

*Proof.* Since  $N_{14}$  and  $Q_{44}$  are nilpotent, it is easy to check that  $N_{14} + Q_{44}$  is also nilpotent by (14). Then, the conclusion can be obtained according to the proof of Theorem 2.6.  $\square$

The following results are obtained immediately from Theorem 2.7.

**Corollary 2.8.** *Let  $P, Q \in \mathcal{B}(X)$  be Drazin invertible. If  $PQ = QP = 0$ , then  $P + Q$  is Drazin invertible, and  $(P + Q)^D = P^D + Q^D$ .*

**Corollary 2.9.** *Let  $P, Q \in \mathcal{B}(X)$  be idempotent. If  $PQ = QP$ , then  $P + Q$  is Drazin invertible, and  $(P + Q)^D = P + Q - \frac{3}{2}PQ$ .*

### Acknowledgments

The author would like to thank the anonymous referees for their very detailed comments and many constructive suggestions which helped to improve the paper.

**References**

- [1] E. Boasso, D. S. Cvetković-Ilić, R. Harte, On Weighted Reverse Order Laws for the Moore-Penrose Inverse and K-Inverses, *Communications in Algebra*, 40 (2012) 959–971.
- [2] D. S. Cvetković-Ilić, J. Nikolov, Reverse order laws for  $\{1, 2, 3\}$ -generalized inverses, *Appl. Math. Comput.*, 234 (2014) 114–117.
- [3] P. A. R. De, W. Musheng, Reverse order law for reflexive generalized inverses of products of matrices, *Linear Algebra Appl.*, 277 (1998) 299–311.
- [4] C. Y. Deng, Reverse order law for the group inverses, *J. Math. Anal. Appl.*, 382 (2011) 663–671.
- [5] T. N. E. Greville, Note on the Generalized Inverse of a Matrix Product, *Siam Review*, 8 (1966) 518–521.
- [6] R. E. Hartwig, The reverse order law revisited, *Linear Algebra Appl.*, 76 (1986), 241–246.
- [7] S. Izumino, The product of operators with closed range and an extension of the reverse order law, *Tohoku Mathematical Journal*, 34 (1982)43–52.
- [8] D. Mosić, Reverse order laws for the generalized Drazin inverse in Banach algebras, *J. Math. Anal. Appl.*, 429 (2015) 461–477.
- [9] D. Mosić, Reverse order laws for the generalized strong Drazin inverses, *Appl. Math. Comput.*, 284 (2016) 37–46
- [10] D. Mosić, Reverse order laws on the conditions of the commutativity up to a factor, *RACSAM*, 111 (2017) 685–695.
- [11] J. Nikolov, D. S. Cvetković-Ilić, Reverse order laws for the weighted generalized inverses, *Applied Mathematics Letters*, 24 (2011) 2140–2145.
- [12] Y. G. Tian, Some mixed-type reverse-order laws for the Moore-Penrose inverse of a triple matrix product, *Rocky Mountain J. Math.*, 37 (2007) 1327–1347.
- [13] G. R. Wang. The reverse order law for the Drazin inverses of multiple matrix products, *Linear Algebra Appl.*, 348 (2002) 265–272.
- [14] X. N. Wang, A. Q. Yu, T. F. Li, C. Y. Deng, Reverse order laws for the Drazin inverses, *J. Math. Anal. Appl.*, 444 (2016) 672–689.
- [15] H. J. Werner, When is  $B^-A^-$  a generalized inverse of  $AB$ ?, *Linear Algebra Appl.*, 210 (1994) 255–263.